<o @> (rad)

< 00, > (M)

<opyp, > ()

Ratio

o
[N

o
=
a1

< o cot(y) >
o
=
a1

..............................................

o
N

0.05f -+ -hepee{rireroneehonens 3 R EA B 0.05F -+
o] PP S N N S, ------ ] o] PP U FUDUNN FOD R :

_0.2;| 11 | 'l | M | MR | MR | A O_O.Z;I | : }
E 3 3 1 | N = 15k 9 & -
15 TE TR0 00T s < E q q .
1: A : : L. A o 1;—' E 400 A | i F R R
0.5F-{--& bk def b E - 8 0.5F- d 2| DU O : Y U
0: L : & ; . 0: . : L ; L
= -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_mkFit_TT_baseline_6iter
—— DQM_mkFit_TT_RetrainV2_WP1_6iter

100 1NEER I E 10O T

80F- -+ - R SRR (NI 8| E A 2 sof-{IIfit- i

E . : ; A E . b ;

60115 IR AR N 5 R S 60F- it S

I : : : o I : " :

40F- | SRR (0| A v A0 .

20F-{ -5 R R F i 0| A 20E- 1111t

Of -4+ AREIERIARNE Y SR of-1IHE-

20 {f+- R RRR NI 0| E A ~20F-{{| 4tk .« f«

~aof- |- 1 ~aof1fl - AL

=60F -+ttt (b =60 HE- i :

~a0f-{{-+- ~aof- [l -

lQO:""I"":""!"":"' 9_100:... ||!||||i||||!||||

F i ] ! ! I N I | 7

L ARIRIEIE 1 T = bl [ ; ;

E LR LT L R s 3

0.5 1-1-H- g i | i C 1 ] | i
-3 -2 -1 0 1 2 3 0—3 -2 -1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA- to beamline)

5E i i i
Sl il
2l

15_ i 5l | :

oF "
=3

—2F : i

e

-3

-5~ | | I | |
A
-
= S R B B

TP n (PCA- to beamline)



	Contents
	Page 1


